[image: image1.jpg]T"A"Gldss.com 4)’7:'7 1% ’%






听力课堂,开放式英语学习平台！www.TingClass.net

Fact: liquid water is heavier than air. Fact: clouds, which consist of water droplets and ice crystals, seem to hover in the air. One final fact: the water droplets in a typical cloud together weigh many tons. Which raises a question: how do clouds stay up in the sky? Clouds form when warm, moist air rises to a greater altitude, causing it to expand and cool. Eventually, water vapor in the cooled air condenses into the droplets that form clouds. The condensed droplets are on average roughly eight-one-hundred- thousandth of an inch across. In other words, a single droplet is very, very small.
Despite their tiny size, the droplets still have mass and are therefore affected by gravity. They are so small, however, that rising air keeps the water droplets aloft. The effect is similar to how dust appears to float in a shaft of sunlight: although gravity works on the bits of dust, even the gentlest currents are enough to keep them swirling around in the air.

Clouds, then, are not so much able to float as they are held up by surrounding air. In fact, the tiny cloud droplets do sink, but so slowly that it would take an hour for a single droplet to sink only one yard. And although the cumulative weight of a cloud's droplets is many times that of the surrounding air, the droplets are spread out over a large enough area to render the gravitational pull on any single drop almost negligible. When the droplets become larger, gravity overcomes the dragging forces of the rising air and the droplets fall to the earth as rain.
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